Grade 7 Revision

mpta the sentences below by Ti ng in the rnlssms words.
Llshtnr\g is caused |:>3 astreamof d’\ar\ges down to a ':iﬂpomt on the
Smmd where cl'\crses have collected because of t I from
cloud. When the ¢ e is cilscharsecl and rush to meet. Ths is where
you see the hﬂh’mng The i ht.nlns earths the chcrge and __ theair c||on3 its
ath. The air and maq(es the noise of thunder.

3. Match the word in Column A with its exleat.inn in Column B.

Column A Column B

A: Transparent 1: Allows light through but disperses the light
B: Translucent 2: Does not let light pass thorough

C: Opaque 3: Lets light pass through
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